BOARD OF SUPERVISORS

MADISON COUNTY, MISSISSIPPI

Department of Engineering Tim Bryan, P.E., County Engineer 3137 South Liberty Street, Canton, MS 39046 Office (601) 790-2525 FAX (601) 859-3430

MEMORANDUM

March 30, 2022

To: Sheila Jones, Supervisor, District I Trey Baxter, Supervisor, District II Gerald Steen, Supervisor, District III Karl Banks, Supervisor, District IV Paul Griffin, Supervisor, District V

From: Tim Bryan, P.E. County Engineer

Re: Award Bid LSBP-4(22) Bridge Replacement on Simpson Road

On March 30, 2022, construction bids were received for the LSBP-4(22) Bridge Replacement on Simpson Road Project.

The Engineering Department recommends that the Board approve and award the contract to the lowest bidder, Joe McGee Construction Company, Inc. for \$397,445.30. It is also requested for the Board President to be authorized to sign the attached LSBP-1 (12%) form for submission of State Aid Road Construction and also to sign the construction contracts once State Aid concurrence is granted.

GERALD STEEN District Three KARL BANKS District Four PAUL GRIFFIN District Five Local System Bridge Program Project No. LSBP- 45(22) Madison Cou

County

ORDER OF MADIS ON COUNTY BOARD OF SUPERVISORS AWARDING CONTRACT AND ESTABLISHING PROJECT FUND FOR THE ABOVE NUMBERED PROJECT

WHEREAS, said Board has on this the 30 day of MARCH, 2022 received and opened bids on said project, and

WHEREAS, We, the Board of Supervisors of MADIS on County, Mississippi, having advertised for bids on the above numbered project and proof of publication of said advertisement having been filed with the Clerk of the Board of Supervisors in the manner and form required by statute, and

	WHEREAS, the lowest regular bid	was submitted by	MSGEE	CONST.	Co.
of	LAKE, MS.	in the amount	of\$ 397	445.30	·

NOW, THEREFORE, IT IS HEREBY ORDERED by the Board of Supervisors of M_{AOISON} County that the contract be awarded to $be M = Gee Construction Co_{co}$, subject to approval of the State Aid Engineer, and that the President of the Board be and he is hereby authorized to execute the contract with the Contractor after a satisfactory performance bond has been furnished.

transfer. In case of unexpected overruns in costs which would increase the project beyond the amount of the project fund established herein, the State Aid Engineer is authorized to transfer additional funds to the project as are needed to pay such overruns in final construction costs.

IT IS FURTHER ORDERED that the President of the Board is hereby authorized to execute Supplemental Agreements to the original contract which do not increase the cost of the project in excess of the project fund authorized herein. It is also ordered that the State Aid Engineer be furnished a certified copy of this order.

President, Board of Supervisors

MADISON County

This is to certify that the for	egoing is a true	and correct copy of an order passed by the Board of
Supervisors of MADISON	County,	Mississippi, entered upon the minutes of said Board of
Supervisors, Minute Book No.	, Page No.	, same having been adopted at a meeting of said
Board of Supervisors on the	day of	, 20

Clerk of Board of Supervisors

MADISON County

	1 - J 4				***7.0 .0.1***							
Madison County	Office of state Aid Nodu- Hobridgen Madison County District Sociocor. Tay Bichardson		01		397,445.300	Tho	411,498.38 N L Carson Construction Co		422,578.40 Hemphill construction Co		424,938.60 Fordice Construction Co	t Co
30-Mar-2022	District Engineer- Jay Richardson 30-Mar-2022	ason	Unit Ext	ended	Hanover Insurance Co	- IIIC	cavelers	y of	Federal Insurance co		Fidelity & Deposit Co.	Co. of Mary
ROADWAY		1 000 1 5		45 000 00	25 000 0000	25.000.00	37.400.0000	37,400.00	47,400.0000	47,400.00	20,000.0000	20,000.00
S-201-A	CLEARING AND	1.000 LS	15,000,0000	15,000.00	25,000,0000	25,000.00	30,350.0000	30,350.00	19,500.0000	19,500.00	25,000,0000	25,000.00
S-202-B	REMOVAL OF P	1.000 UN	10,000.0000	10,000.00	12,000.0000	12,000.00	5,000.0000	5,000.00	7,850.0000	7,850.00	10,000.0000	10,000.00
S-202-D	REMOVAL OF A	116.000 SY	4.0000	464.00	9_1500 20.0000	1,061.40	4,0000 7 nnnn	464.00 364 nn	10,1500	1,177.40	20.0000	1,160.00
S-203-A S-203-F	CHANNEL EXCA	440.000 CY	12.0000	5,280.00	8,6000	3,784.00	5.0000	2,200.00	12.8500	5,654.00	10,0000	4,400.00
S-203-H	EXCESS EXCAV	4257.000 CY	12.0000	51,084.00	6.0000	25,542.00	6.7500	28,734.75	8.1500	34,694.55	12.5000	53,212.50
S-304-B	GRANULAR MA	270.000 TON	45,0000 80,0000	12,150.00	32.5000 73 0000	8,775.00	29.1000 73.1500	7,857.00	35,0000 85,0000	9,450,00	39.0000 76.0000	10,530.00 7,341_60
S-304-D S-603-C-A	18" REINFORCE	96,600 LF	40.0000	2,240.00	73.0000 58.0000	3,248.00	38,7500	2,170.00	85,0000	4,760.00	65,0000	3,640.00
901-S-607-A	ROADWAY CON	1.000 LS	2,500.0000	2,500.00	6,250,0000	6,250.00	5,750.0000	5,750.00	2,500.0000	2,500.00	12,000.0000	12,000.00
901-S-607-B	BRIDGE CONST	1.000 LS	2,500.0000	2,500.00	6,250.0000	6,250.00	5,750.0000	5,750.00	2,500,0000	2,500.00	7,500.0000	7,500.00
S-617-A	RIGHT-OF-WAY	12,000 EA	20 000 0000	1,980.00	2920 0000	3,120,00	4 200 0000	4 200 00	2 750 0000	2 750 00	6.500.0000	6,500,00
S-618-B	ADDITIONAL CC	0.000 SF	10,0000	0.00	10,0000	0,00	10,0000	0.00	10.0000	0.00	10,0000	0.00
S-630-A	REFLECTORIZE	1.000 EA	175.0000	175.00	250.0000	250.00	281,0000	281.00	275.0000	275.00	300.0000	300.00
S-630-B	REFLECTORIZE	1.000 EA	175.0000	175.00	250,0000	250.00	230 0000	230.00	275,0000	275.00	300,0000	300.00
TOTAL ROADWAY	NAY		120,0000	177,172.00		136,872.20	100,0000	140,337.04		151,350.95		166,124.10
EROSION CONTROL		1 400 TON	450 0000	630.00	330.0000	462.00	600,0000	840.00	350,0000	490.00	400 0000	560.00
S-212-B	COMMERCIAL F	0.694 TON	1,100,0000	763.40	1,100.0000	763,40	1,300.0000	185 00	1,150.0000 950 0000	798.10	1,250.0000	100.00
S-212-4	SEEDING	0,100 I ON	1.310.0000	909.14	1.100.0000	763.40	1,600.0000	1,110.40	1,150.0000	798.10	1,250,0000	867.50
S-215-A	VEGETATIVE M	2.100 TON	435.0000	913,50	445.0000	934.50	550.0000	1,155.00	475.0000	997.50	485.0000	1,018,50
S-233-A	TEMPORARY SI	20 000 LF	4.0000	7,200.00	4 3000 18 0000	7,740.00	4 0000 10 0000	7,200.00	4.3500 23.5000	7,830.00 470.00	4,0000 25.0000	500.00
237-A	WATTLES, 12"	200.000 LF	8.0000	1,600.00	7 0000	1,400.00	6.0000	1,200.00		1,100.00	5.5000	1,100.00
S-304-D	CRUSHED STOP	10.000 TON	80.0000	20 735 00	72,5000	725.00	73,1500 74,4900	23,762.31	73.5000	23,446,50	79,5000	25,360.50
S-815-E	S-815-E GEOTEXTILE FA	442.000 SY	4.0000	1,768.00	4.2000	1,856,40	3.6000	1,591.20	2.2500	994.50 37,869.70	4.0000	1,768.00
BRIDGE S-803-A	TEST PILE	2,000 EA	6,400,0000	12,800.00	7,000,0000	14,000.00	5,684.0000	11,368.00	5,500.0000	11,000.00	6,000.0000	12,000.00
S-803-B	CONVENTIONAL	0.000 EA	4,000.0000	0.00	4,000.0000	0.00	4,000.0000	0.00	4,0	0.00	4,000,0000	0.00
S-803-C S-803-F	14" PRESTRESS	450.000 LF 200.000 LF	43.0000 10.0000	19,350.00 2.000.00	71.5000 0.1000	32,175.00 20.00	63.6800 6.0000	28,656.00	10.0000	42,750.00 2,000.00	15.0000	3,000.00
S-806-A	19' PRECAST CO	18.000 EA	2,875.0000	51,750.00	3,800,0000	68,400.00	4,808,0000	86,544.00		72,000.00	3,850.0000	69,300.00
S-806-B S-806-H	19' PRECAST C(BEAM TYPE RAI	6.000 EA 114.000 LF	3,150.0000 69.0000	18,900.00 7,866.00	3,900.0000 107.5000	23,400.00 12,255.00	5,257.0000 84.0000	31,542.00 9,576.00	4,500,0000	27,000.00 11,400.00	4,200,0000 97,0000	25,200.00 11,058.00
S-806-1	29.0' PRECAST (2.000 EA	4,120,0000	8,240.00	0000,000,8	17,800.00	6,595,0000	13,190.00		15,000.00	7,650.0000	15,300.00
S-806-J	29.0' PRECAST ו ז קי PRECAST ו	2 000 EA	4,120.0000	3 900 00	1.300.0000	5 200.00	a,393,0000 1.450,0000	5,800,00	1.750.0000	7,000,00	1,300.0000	5,200.00
S-815-A	LOOSE RIPRAP	397.000 TON	65,0000	25,805.00	72.0000	28,584.00	74.4900	29,572.53		29,179.50	79.5000	31,561.50
S-815-E TOTAL BRIDGE		457.000 SY	4,0000	1,828.00	4.2000	1,919.40 221,553.40	3.6000	1,645.20 232,283.73	2.2500	1,028.25	4.0000	1,828.00 218,322.50
TOTAL BID				374,334.54		397,445.30	Î	411,498.38		422,578.40	Ĩ	424,938.60
DIFFERENCE					1	0.00		0.00		0.00		0.00
PERCENTAGE	PERCENTAGE OVER (UNDER) :					6.17%		%E6 6		12.89%	5 0	13.52%
Approved:	Jay Richardson	Jay Richardson, P.E., District Engineer	t Engineer									
	nal vrchardson	L F.D., DISCLES	C TRATTERT									

Jay Richardson, P.E., District Engineer

					č I	m, P.E., District	Jay Richardson, P.E.,	Approved:
49.05%		32.48%	•	18.47%			PERCENTAGE OVER\(UNDER):	PERCENTAGE
0.00		0.01		0.00	-			DIFFERENCE
557,935,40	0	495,930.00		494,092.74				TOTAL BID
27		280,821.04		245,819.40				TOTAL BRIDGE
1,599.50	3 3,5000	2,920.23	6.3900	29,378,00	4.2000	397.000 TON 457.000 SY	GEOTEXTILE FA	S-815-A
	2,0	6,360.00	1,5	7,900.00	1,975.0000	4,000 EA	7.5' PRECAST C	S-806-M
-	9	27,020.00		12,120.00	6,060.0000	2.000 EA	29.0' PRECAST I	S-806-J
	9	27,020.00	13,	12,120.00	6,060,0000	2,000 EA	29.0' PRECAST	S-806-I
		28,700.00 14,535.00	4,900,0000	12,540.00	4,610.0000	6.000 EA	BEAM TYPE RAI	S-806-H
	n <u>+</u>	81,360.00		78,030.00	4,335.0000	18.000 EA	19' PRECAST C(S-806-A
		200.00		102.00	0,5100	200.000 LF	20" PRE-FORME	S-803-F
40,95		42,525.00		40,950.00	91.0000	450,000 LF	14" PRESTRESS	S-803-C
	4,000.0000	0.00		20,100.00	4.000.0000	2,000 EA	CONVENTIONAL	S-803-A
00 23 440 00		10 850 00	0 025 0000	22 100 00				BRIDGE
3				101.01			I O LAL EROSION CONTROL	
48.984.10	0.000	48 394 10	0.3900	30 481 54	4.0000	442.000 SY	GEOTEXTILE FA	S-815-E
N	~	24,113.21	75.5900	23,606.00	74.0000	319.000 TON	LOOSE RIPRAP	S-815-A
		814.10	81.4100	680.00	68 0000	10.000 TON	CRUSHED STOP	S-304-D
		2,040.00	10.2000	1,800.00	9.0000	200.000 LF	WATTLES, 12"	237-A
		803.00	40.1500	154.00	7 7000	20.000 BL	TEMPORARY EF	S-235-A
		12,438.00	6.9100	6,840,00	3.8000	1800.000 LF	TEMPORARY SI	S-233-A
	1,595.0000	1,617.00	770.0000	1.722.00	820.0000	2 100 TON	VEGETATIVE M	S-214-A
1 849 57		70, 02	2,575,0000	265.00	2,650,0000	0.100 TON	AMMONIUM NIT	S-212-F
_		1,217.97	1,755.0000	1,061.82	1,530.0000	0.694 TON	COMMERCIAL F	S-212-B
		1,568.00	1,120.0000	280.00	200,0000	1.400 TON	AGRICULTURAL	EROSION CONTROL 901-S-212-A AGE
					2			
229,670.80		166,714.86	1	208,791.80			VAY	TOTAL ROADWAY
	240.0000	600.00	150.0000	352,00	88.0000	4.000 EA	REFLECTORIZE	S-630-C
		275.00	275.0000	210.00	210 0000			S-630-A
0.00		150 00	10,0000	0.00	10,0000	0.000 SF	ADDITIONAL CC	S-618-B
6,8	8'9	4,974.95	4,974.9500	4,200.00	4,200.0000	1,000 LS	MAINTENANCE	S-618-A
		3,000.00	250.0000	2,400.00	200,0000	12.000 EA	RIGHT-OF-WAY	S-617-A
		3,915.00	3,915.0000	3,660.00	3,660,0000	1.000 LS	BRIDGE CONST	901-S-607-B
	6	4,950.00	4,950.0000	4,950.00	4,950,0000	1.000 LS	ROADWAY CON	901-S-607-A
	113.0000	4,424.00	79.0000	3.024.00	54 0000	56 DOD 1 E	18" REINFORCE	S-304-D
	103 0000	7 864 21	81-4100	9,990,00	37.0000	270.000 TON	GRANULAR MA	S-304-B
0 15,341,00	13.0000 58.0000	40,015.80	9 4000	46,827.00	11.0000	4257.000 CY	EXCESS EXCAV	S-203-H
	30.5000	4,070.00	9,2500	4,510.00	10.2500	440.000 CY	CHANNEL EXCA	S-203-F
		582.40	11.2000	520.00	10.0000	52.000 CY	UNCLASSIFIED	S-203-A
		1,508,00	13.0000	870.00	7.5000	116.000 SY	REMOVAL OF A	S-202-D
	15,220.0000	9,000.00	9,000.0000	35,500.00	35,500,0000	1.000 UN	REMOVAL OF P	S-202-R
	44,490,0000	10,000.00	10,000,0000	45,000.00	45,000,0000	1.000 LS	CI FARING AND	S-200-A
0 39 520 00	39 520 0000	50 975 00	50 075 0000			1 000 1 0		ROADWAY
Casualty & Surety of	Travelers Casu	Co. of Mary	Fidelity & Deposit	of	Travelers Casualty & Surety			30-Mar-2022
2			J J Ferguson S&G	5 6	Beacon Construction LLC		District Engineer- Jay Richardson	District Eng
	557,935.40		495,929.99		494,092,74		Office of State Aid Road- LSBP-45(22) Madison County	Office of Stat Madison County